M:thin English Brain Teasers level 1 #14

Which shape combination is needed to complete this pattern ?
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Which natural number replaces the question mark ?

3 | 4 18 | 3 5 | 2 213

1|12 2 | 3 2 | 2 4 | 24
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M:thin English Brain Teasers level 1 #14

Answer to brain teasers

puzzlel: B
Reflect the shapes in the next square and alternate between shaded

and non-shaded.

puzzle 2 : 56
The digits 5 and 6 of 56 are the 2 cells on its left and right.

puzzle3: H
C and H, and the pair G and D add up to 11, or K.

puzzle 4 : 20
Multiply 2 by 2 by 5.
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